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For universe models with non relativistic

matter only we have
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Proof The general expressions for the
luminosity distance is
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In this type of model k corresponds

to Imo e 1 which is the Eds universe

for which we have already found
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We cheek that H reproduces this result
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så this special case cheeks out 2

Nett let's look at sm.cl
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We don't need to day Ho and c

around so let s write
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So the expression inside svikt becomes
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One way of handlig the integral
is to substitute
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By defining å I Simo we

can write this as
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Now was the tedious part
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